RP AR5 710700

=25 853
N [Te)
: : N g
N
/1N O
/ [e)]
/ \ |
// \\
% /// ! \\\
+ . AN
& -7 Y
T / I \ it
< // \\
/
/ N
[ o ARV-I-ERE
1 L_J 1
165 APEOTE 0 520 165
~X=2/ O 850
A EREEMAR S=1/2 B &REEHIE S=1/2
X—25% 853
=25 853
RsiR 700 83| & & % HE R mR |5
9 1 KPIL—A SUS304 2B t=1.5 1
= SUS304 2B t=1.5
2 A1 1
3 (B, THESH t=5 08
= /@ e~ § = 3 x=2 SUS304 2B t=1.5 1
& " Y 4 R+ SUS304 2B t=1.5 1
5 -t ZDC2 3
6| #zRIUVI Y2047 2
7 B SUS304 HOT t=3.0 | 2
8 RL2R SUS304 HOT t=3.0 | 1
BEEmETE 027 m
| #H@REOTE 520 | #@mOdE 520
~X—=2R+ 850 ~R—2K+ 850
= = RESE I\X.E‘E.EI ST E & £ % & EA:E% m/n|§',|‘15-09-30 %;
HEEED WEFED ﬁ c 4\%01/2 é%o% T
. HRQ-600M
A 2 % %
A 5t 2 -
5 T SECOASREE 2% 2o




